
 
Fitting Instructions for DG0017 BK Downpipe Grille 

BMW F800GT 2013 
 

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
In This Kit There Should Be 

1 x Downpipe Grille (DG0017) 

2 x M5 Nyloc nuts 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

       PICTURE 1                       PICTURE 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                              PICTURE 3                   PICTURE 4 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com


 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

  PICTURE 5                                          PICTURE 6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                    PICTURE 7                             PICTURE 8  

 

 Remove the four bolts arrowed in pictures 1-4. 

 Remove the joining panel as shown in picture 5. 

 Remove the U type nut from joining panel as arrowed in picture 6. 

 Remove the U type nut from the inside of the left hand side fairing as arrowed in picture 7. 

 Offer the downpipe grille into position (as shown in the top picture) and secure the top of the downpipe 

grille in position using the original bolt as arrowed in pictures 3 and 4. 

 Refit the joining panel without the U type nuts. 

 Use the original bolts and the two M5 Nyloc nuts to secure the lower mounts of the downpipe grille and 

the joining panel as shown in picture 8 (do not over-tighten). 

 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com


 
INSTRUCTIONS DE MONTAGE POUR DG0017 BK Grille protection tuyaux 

BMW F800GT 2013 
 

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Le kit doit contenir : 
1x Grille de protection (DG0017) 

2 x écrous M5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

       PHOTO 1                       PHOTO 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                              PHOTO 3                   PHOTO 4 

 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com


 
 

 

 

 

 

 

 

 

 

 

 

 

 

  PHOTO 5                                          PHOTO 6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                    PHOTO 7                             PHOTO 8  

 

 Enlever les 4 boulons (Photos 1-4). 

 Enlever le panneau d’assemblage (Photo 5). 

 Enlever l’écrou type U de ce panneau (Photo 6). 

 Enlever l’écrou type U de l’intérieur du carénage gauche (Photo 7). 

 Mettre la grille de protection en position (comme indiqué sur la photo du haut) puis fixer le 
haut de la grille de protection en utilisant le boulon d’origine (Photos 3 et 4). 

 Remettre le panneau d’assemblage sans les écrous type U. 

 Utilisez les boulons d’origine et les 2 écrous M5 pour fixer les supports inférieurs de la grille 
et le panneau d’assemblage (Photo 8) (Ne pas bloquer). 

 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com


 
Montageanleitung für das Krümmerschutzgitter DG0017 BK 

BMW F800GT 2013 
 

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Dieser Kit enthält: 

1 x Krümmerschutzgitter(DG0017) 

2 x M5 selbstsichernde Mutter 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  ABBILDUNG 1     ABBILDUNG 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ABBILDUNG 3      ABBILDUNG 4 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com


 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

  ABBILDUNG 5     ABBILDUNG 6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  ABBILDUNG 7     ABBILDUNG 8  

 

 Entfernen Sie die vier Schrauben, die in Abbildungen 1-4 markiert sind. 

 Entfernen Sie das Verkleidungsverbindungsstück – siehe Abbildung 5. 

 Entfernen Sie die Gewindeklammer vom Verkleidungsverbindungsstück, wie in Abbildung 6 markiert. 

 Entfernen Sie die Gewindeklammer von der Innenseite der linken Seitenverkleidung – siehe Abbildung 

7. 

 Das Krümmerschutzgitter in Position ansetzten (wie im obersten Bild) und mit der Originalschraube 

oben befestigen – siehe Abbildungen 3 und 4. 

 Montieren Sie das Verkleidungsverbindungsstück ohne die Gewindeklammer. 

 Verwenden Sie die Originalschrauben und die zwei M5 selbstsichernde Mutter, um die unteren 

Halterungen des Krümmerschutzgitters und Verkleidungsverbindungsstücks, wie in Abbildung 8 

abgebildet, zu befestigen (nicht zu fest anziehen). 

 

http://www.rg-racing.com/
mailto:info@rg-racing.com

